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KDD
85 NTT
86
NCC °
87 88
90
96
PHS
68 98 179
90 940

98

12

NTT

NCC

89

6,600

New Common Carrier

92 93

97 98

90



90 91 92 93 94 9% 9% 97 98
1 1 1 1 1 1 1 1 1
1 1 1 1 1 1 1 1 1
1 9 9 9 9 9 9
5 5 5 5 5 5 5 6 12
2 3 3 2 2 4 4 5 6
7 7 8 10 11 16 28 47 77
16 17 25 27 28 31 31 25 23
36 36 36 31 31 31 31 31 31
23 28 28 28 19
68 70 80 86| 111| 126 | 138| 153 | 179
31 36 36 39 44 50 78 9% 88
19| @) | @] GY| @E)| G| (61| (849
912 | 1,000 | 1,143 | 1,550 | 2,063 | 3,084 | 4510 | 5776 | 6,514
1011 | 1,006 | 1,259 | 1,675 | 2218 | 3,260 | 4,726 | 6,024 | 6,781
96
97 NTT
98 NTT
KDD KDD
KDD
9 7 97
NTT 4
98
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PHS 4.9
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90 91 92 93 94 95 96 97 98
7.0 5.8 4.2 1.9 24 53 5.7 5.6 3.9
10.8 10.6 111 115 10.6 12.6 6.5 5.3 3.0
7.8 12.3 121 7.4 5.6
6.0 125 11.8 7.9 6.0
2.6 6.2 7.3 12.0 115
94
9
NTT 86 95 7.3%
8
NTT NCC
89
92
89 98
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98
96
96 5,310 97 8,530
98 8,222
89 93 % 9% % 97 98
13,5307 15,835 16,493 21,803 30,333 38,555
( (2,706) (2,305) (658) (5,310) (8,530) (8,222)
89
89 98
98
1 3,397
98 8,555 2 5,158
88 NCC
88 KDD NCC 88 95
1 96
KDD
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KDD NCC 89

KDD NCC
89 93 94 95 96 97 98
1 1,744° 1,828 1,980 2,313 2,482 2,623
( ) (349 (84 (152) (333) (169) (241)
89
93
98 141
98 2,623
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2,623 1,141
1,482
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98 215 kw 2000
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(93 99 30
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A
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1994 4 10
98 4 5,000 98
99 10
94 98
5000 0.03 0.36%
99
0.42 99 10
93 1,749,248 0.55%
o4 1,547,231 0.49% 4 0.06%
% 1,742757 0.48% 40.01%
% 1,632,365 0.46% 40.02%
97 1,754765 0.39% 40.07%
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NTT 1 NTT
KDD1
NTT '85/7
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NTT '86/7
KDD '86/9
NCC3 "87/9 NTT '87/4
NTT '88/2 NTT '87/12
TTNet "88/5 IDO "88/12
NTT NCC '89/2 NTT '89/3
NCC "89/10 "80/7
KDD '89/11 NTT NCC
NTT NCC '90/3 '90/3
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T ITJ '97/10
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DIn(Q)=a "~ DIn(GDP )+b " DIn(P)+g " DD

Q NTT NCC

GDP

P

DD 92 95

D In

GDP
0.983802 -0.758761 0.050294
) (5.31855) (-6.85315) (4.21340)
82 98

1%
Adjusted R* =0.587503 D.W.=1.87190

141 Nanbu, Tsubouchi,
Kurosawa, “ Competition and Regulation of Japanese Telecommunication Industry,”

NTT GDP 13 9 NTT
GDP 14
-0.45 -0.25
NTT 3
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DIn(Q)=a " DIn(P)+b " D93 +g  D9%

Q KDD NCC
P
D93 93 NCC
D96 96
D In
GDP
93 ) (9% )
-1.04123 0.089582 0.336278
t ) (-13.8915) (2.62341) (8.41188)
:89 98
% 1% 93 5%

Adjusted R*=0.890849 D.W.=1.27272
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DIn(Q)=a “ DIn(GDP )+b " DIn(P)+g "~ DD

Q 3

GDP

P 3

DD 85=1 89=-1

D In

GDP
1.39265 -0.484888 -0.077430
t ) (7.87138) (-4.53009) (-3.74883)
75 98

1%
Adjusted R*= 0.653175 D.W.=1.76615

9 JAL
GDP 1.48 /
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95 7
9 95 % 97 98
3,950 3,279 3,145 3,003 2,951
A17.0% A41% A45% AL7%
3,775 3,910 4,048 4,128 4,178
3.6% 35% 2.0% 1.2%
420.6% A7.6% A65% 42.9%
814 249 204 87
25,619 24,921 24,082 23,777 23,728
A27% A3.4% A13% A0.2%
3,775 3,910 4,048 4,128 4,178
3.6% 35% 2.0% 1.2%
A46.3% A6.9% A3.3% AL14%
1614 1,720 795 333
6
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95 A17.0 A2.7%
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97

(2)

In(Q) =a +b " DIn(GDP) +g " In(P)

GDP

17.4147 1.03429 1.1245
37.5477 3.09355 6.5554

83 97
1 GDP 5
Adjusted R*=0.935264 DW.=1.41163
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0-250 0.125 660 340 320 40
251-500 0.125 660 340 320 40
501-750 0.125 660 340 320 40
751-1000 0.125 660 340 320 40
1001 1250 0.125 660 420 240 30
1251 1500 0.125 660 500 160 20
1501 1750 0.125 660 580 80 10
1751 2000 0.125 660 660 0 0

220
220 660
33%
10
660 5.8% 3.6% 660
2km
X 2km
x 2km
96
96
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DIn(Q)=a “ DIn(GDP )+ b " DIn(P)+g” D8 +d " D%

Q MWh
GDP
P
D86 86
D94 94
D In
GDP (86 ) (94
0.712398 -0.441301 -0.060918 0.056612
t ) (4.33942) (-2.39099) (-3.22042) (3.64239)
:81 98
GDP 5%

Reform and its Effect in the Japanese Electric Utility Industry,”

GDP 1
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Adjusted R* = 0.618227 D.W.=2.26774

142  Kibune, “Regulatory
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DIn(Q)=a "~ DIn(GDP )+ b " DIn(P)+g” D8 +d " D9

Q
GDP
P
1
D89 89
D94 A
D In
GDP (89 ) (94
0.562612 -0.088500 0.035553 0.039426
(t (5.38130) (-1.82074 (2.51110) (3.04116)
82 98
GDP 1% 5% 10%
Adjusted R?2=0537515 D.W.=1.76125
A
94
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DIn(Q)=a " DIn(GDP )+b "~ DIn(P)

GDP

GDP
1.73877 -1.73699
t ) (2.94959) (-2.50473)
91 98
5%
Adjusted R? = 0.355565 D.W.=2.48144
95
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